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QUESTION 1

Which statement is correct about the SAP Fiori tile group? Note:There are 2 correct answers to this question.
A. It can be assigned directly to the user via personalization.

B. It is assigned via a portal role.

C. It provides only SAPUI5-based apps.

D. Itis based on an SAP Fiori tile catalog.

Correct Answer: CD

QUESTION 2

You want to display additional document information within the document flow of a maintenanceorder. For which type of
documentmust this be customized?

A. Invoice

B. Service entry sheet
C. Purchase order

D. Goods movement

Correct Answer: D

QUESTION 3

You want to assign your maintenance orders to a WBS element.Which of the following statements are correct? Note:
There are 2 correct answers to this question.

A. The settlement receiver WBS element can be determined automatically.
B. The assignment is always made to a network activityof theWBS element.
C. The assignment always has to be made manually.

D. The assignment can be made automatically.

Correct Answer: AD

QUESTION 4
Which of the following statements are correct regarding a cross-plant planning scenario?

A. Multiple planning plants are assigned to a maintenance plant.



B. Multiple maintenance plants are assigned to aplanning plant.
C. Itis not supported in SAP S/4HANA.
D. It combines maintenance plants in different controlling areas.

Correct Answer: A

QUESTION 5

Which steps support the maintenance technician in the Report andRepair Malfunction Fiori app (3 tiles)? Note: There
are 3 correct answers to this question.

A. Complete the malfunctionreport.

B. Plan repair work for responsible work center.

C. Assign production resource tool (PRT) to operation.
D. Verify planned and actual costs

E. Find malfunction records already created in a list.

Correct Answer:. ABE

QUESTION 6

You cancel the technical completion of a work order. What are theeffects? Note: There are 2 correct answers to this
guestion.

A. Open purchase orders are recompiled.

B. Openreservations are recompiled.

C. Referenced notifications are put In Process again.
D. Open purchase requisitions are recompiled

Correct Answer: BD

QUESTION 7

Which of the following can you assign to an equipment category via a view profile? Note: There are 2 correct answers to
this question.

A. Configuration
B. Manufacturer data

C. Serial data



D. Warranty

Correct Answer: AC

QUESTION 8

During the implementation project you need to define the organizational units relevant for Plant Maintenance. Which of
the following objects can you directly assign to a maintenance plant? Note: There are 2 correct answers to this
question.

A. Storage location

B. Maintenance work center

C. Business partner

D. Maintenance planner group

Correct Answer:. AB

QUESTION 9

What can you assign in a notification item? Note: There are 2correctanswers to this question.
A. Only one object part

B. One or more object parts

C. One or more causes of damage

D. Only one cause of damage

Correct Answer: BC

QUESTION 10

What are the prerequisites to serialize a piece of equipment? Note:There are 3 correct answers to this question.
A. Assign a serial number profile to the related material master.

B. Assign a serial number profile to the equipment category.

C. Add a serialized material to the equipment serial data view.

D. Maintain a serial number for an existing equipment master.

E. Add a serialized material to the construction type field of the equipmentmaster.

Correct Answer: ACE



QUESTION 11

Which of the following statements are correct for SAP S/4HANACIoud - Asset Management? Note: There are 2 correct
answers to this question.

A. You do NOT have access to the SAP S/4HANA backend system.

B. You have access to the SAP S/4HANA back end system.

C. You can configure SAP S/4HANA Cloud via the SAP Asset Intelligence Network.
D. You can configure SAP S/4HANA Cloud via the self-service configuration Ul.

Correct Answer: AD

QUESTION 12

The technical completion of the current maintenance order was posted with a delay of 5 days. What happens to the next
planneddate if you set the shift factor for early completion to 100%?

A. Itis not shifted.

B. It is postponed by 5 days.

C. Itis postponed by a full cycle(100%).
D. It will be 5 days earlier.

Correct Answer: B
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